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QUESTION 1

What was a serious drawback in the early development of networks? 

A. computers being dedicated to one function 

B. computers were too complicated to be connected 

C. the low speed of the network 

D. vendors developing their own network communication protocols 

Correct Answer: D 

 

QUESTION 2

What is the purpose of a load balancer? 

A. To distribute and balance the load when provisioning/de-provisioning 

B. To spread the load of applications over the day 

C. To make sure that each network request has exactly one response 

D. To generate load on a test server 

Correct Answer: A 

 

QUESTION 3

Why is the Elastic Compute Cloud (EC2) by Amazon a Public Cloud service? 

A. Amazon allows anyone with a credit card access to the service. 

B. Amazon sells books, DVD\\'s and electronic equipment. 

C. Amazon monitors the servers 24 hours per day. 

D. Amazon is a company with publicly trade-able stocks. 

Correct Answer: A 

 

QUESTION 4

Why can virus scanning software not run directly on the hypervisor? 

A. because the hypervisor is hidden software 

B. because the hypervisor only guests other operating systems 
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C. because the hypervisor runs on a server 

D. because the hypervisor starts up before the virus scanning software 

Correct Answer: B 

 

QUESTION 5

Which communication protocol group is generally accepted on the Internet? 

A. NetBIOS 

B. OSI 

C. SNA 

D. TCP/IP 

Correct Answer: D 
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